
Geometry CC l
Unit 1 Part 2 Test (Module 4&5)

Section 4.1

L. Name the following transformation rules:

10-+{
tlto"

d.(x+10)"1\u.\^|fv, 
l. ' \

Ro 
=(x +ro)ri?J

zlo-x - to
[-x +8o)"

rvame: ., KEY
Date: Period:

a.Reftectionoverthex-axis: [X,*)'+ tX , - :k)
b. Reftectionoverther-r-,r, Lx; d i t- X , ?) -

c. 90 degree counter-clockwise .r.r,-"., ( X, b) + L- ? , X)

d. 180 degree ro,r,ion, LX , 3) --+ LjX , - ,)

e.90 degree clockwise r*r,,"n' tffi *)
2. Prove the two polygons are congruent.

a. ;{iil. 11. Xi{;l" ^Ill- fl{T, *}l b' l{*f}. :l:, Kl".-.t., !.,}, t,r"'.."'}.,'n} {rfid .1,,1{ii. fi}, J\f{3, :1}, {}t'L,{tr'}

Section 4.2

L. What do the angles of a triangle sum to? l80"

2. What do angles D and E sum to?

il\f LD + L€ =.15"
I \ (ura LF=1o.)

rl-r \ r

3. The measure of one of the acute angles in a right triangle is given. What is the measure of the other
one?

a.44o

N 1o-aa.s
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/'{-3, -lJ, ff{-5, - l}, /{i-5, *{j}
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b. 33.9o
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Unit 1 Part 2 Test (Module  &5)

4. What do angles L and 2 sum to?

ote*ti do L

L4=Ll+LL

Section 4.3

If.f;lrtr e.a,*h ft.rr$*ls lrt*asur{ir, ,qJ

5. nlJitf --51"

Name:
Date: Period:

ou*ar d. L
t151 -," tt4*

Cf; m,**l*ZL

fiitr.'rr: dlr1$ff p &(,."llil, Ijind *ftclr virltrll.

2x-7 =-4+-
2x =5o\=25

--t t5_q 3= =A*l

15 * {,li

.t4

2-Y+ uD=3L2>+tz?
1. How many sides and angles must be congruent for a triangle to be considered isosceles?

Z sid as [tn=) d. Lo.-.l3t a:, Cbo..sl.- o.-n-Z t^)
2. ln the picture identify the following:

a. legs: AB 'I AC-

b. Base angles: 41 4 Z 2

c. Base: BC

d. vertex: L3

3. What do the sides and angles have to be for a triangle to be considered an equilateral?

a-\\ s,.clcS -t o-\\ *-A-,* n&u'-tt
b- c-o\-Af---rf,i+.

15,1 -ufi= 9{ + hV+3

b='
6. t:ltd,*ffif# -125"?Sx-15-= iO +sX

X=?

1' - 

;;;x, 
tttenrrfv ttre 

;u'*'- 

+'trrr*sp**ttlins partx' f, Drat's tvr e t;"r,7r.r,

T: '* "& A nx{i:+

tt-tsidc. z-
{Jlir - l5}"

Csrf-9tlrf,u-e-n tU sta-t e-(wLry+.
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ASA

il:
Date: Period:

State if the two triaugtes ar'e r{}ugrueut by SSS, SAS, ASA, ,{.-4.$, rr HL.

SJS.

lA:_

A,a.s

71 A
AJ

u'h, 
,/1+\ ./L\ ,)

ASA

4+s.

AAS
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Unit 1 Part 2 Test (Module 4&5)

1. Given: BD is the segment bisector of AE, <A=<E

Prove:AB = ED

2. Given: EF = GF, <EFD = <GFD

Prove: <E = <G

D

Name:
' Date: Period:

Find each value:

4' 
. ill.'*fi =5(zo) -- loO*r

2x+zx+Ex't8o --toi9x=rgo e,.*(i rof\=2o i#L-t
6. Solve for x:

lsosce-la.s

1, + 2-o= t],
k=-B

5. "{'f = 
(a 

'}.k 4""" B-ttr--ze+S*^*? \rq --",o___?
r./r + As \_\o<,f2
6X..-l latera't

7. Solve for x:

m/J=x+?0

X+ls: Go
)q: -l.O

Statements Reasons

f,€ is the bisector of AE
BD 6iven
AC=EC

DcA o€ Biser-tsr
<A=<E 6;v e-rt
<ACB=<ECD

Vcrti ca-t L;
A ACB =ASCO Asa.

AB=ED c,PLrc

Statements Reasons

EF=GF
6; rorr

<EFD = <GFD
6;v e*l

FD=FD
2-*Q t axi vL ?oL

A EFD=ACrO 6AS
<E=<G CPCT.


